BASIC ALGEBRA EXAM 5 P* NAME

SHOW ALL WORK AS NECESSARY ON THIS TEST OR ON SEPARATE PAPER.
CALCULATORS ARE REQUIRED ON THIS TEST. SIMPLIFY ALL RADICALS
COMPLETELY.

1. 416 2. 100x® 3. 24 4. 90
5. 98 6. /300 7. 12 8. 48
9. 20x* 10.  \[50x°y® 11, \75% 12, \250%x%
13. [63x5y° 14, J175x3y° 15, \[144x2y 16. J28x°y®

17. /125 18. /64x° 19. 72 20. /54
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21.

24,

26.

27.

28.

31.

33.

J3+43 22. Js+.18 23.  J75+3
6:/40 +54/90 25.  1220-912 -5.45

Give the calculator value of 640 + 590 (round to nearest hundredth).

Give the calculator value of 12420 —912 —5./45 (round to nearest hundredth).

J3:43 29. 45.330 30. 314.577
5J7(67/2 +24/5) 32. 46(2\/6-543)

(6—/6)(6++/6) 34. (12—-6)(2—+/6)
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35.  (V2+10)(v2++/6) 36. (6v3-5V6)(2v3-86)
37.  (J6—+/3)? 38. (86 +515)°

39. Calculate the value of (8\/5+ 5\/E)2 rounded to the nearest hundredth.
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